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ZFAHBEL 5] HA P3| A 29 X A3 Z&E|<t vlEFAA

6. 47 AFARA AAAUGTRA JAdHRTR

vkZ H (220-5150)

1. At/ 8
O “FHEZYZ HAdosud"e] 87 9o A3 TAE viHso A
B2 AAhdEo] XHoge d&3 7]|5E oldista A& WUFEA|RIo R
AAst=d 71odstaz; &
2. H| & TA g2l
O HAAdo3ud &5 9o & H& Ay
3. BEXE
O SHAIGZ (R LHH)
— 93 B39 2 JEAAE AME, W A A, g3 2 V|dE 5 AT,
T gro] HAdes|wA o] Hask ALg)
4, v & FA A3
7V A9 A A
1) Z=A717F : 202438 E 2028W71# 5 3o =2 3
— FA7IZH5EZE) o]F o= X&EF O E H|go] WAl & Ao F oA
2) AAE3 A 9SS 3 AFGHIE FA)
. F4 A3
1) AF=94
o AAWs|wA 49 14 : 22,3004
— H2aYxg 9 PAREAEH] 14 X 19,1004 = 19,1000 ¥
— Z2Az1 F4 BAF 12 X 3,20039 = 3,200 ¢
2) Ad=ZT 2403 22,3000 o] F, AT EVISE 5% WhESte 5d7E
123,222 ¢ &8
* oo 2 Bt § FTIAL0 et HEFA HAEAEBEH) Its
o ALdEzEel - =H]100%
5. A=¥ HE&FA A
(29 - A
2 = 1IRFEE | 2309 E | AU E |43 % | 5319 & A
= (20243) | (2025) | (20269)| (20273)| (2028d)
Al = 22,300 | 23,415 | 24,586 | 25,815 | 27,106 | 123,222
A ad o3 wale 22300 | 23,415 | 24,586 | 25,815 | 27,106 | 123,222
AL == 22,300 | 23,415 | 24,586 | 25,815 | 27,106 | 123,222
T H 22,300 | 23,415 | 24,586 | 25,815 | 27,106 | 123222



